g gy s Fevs 1 ~ [y aEces . ?Eju\/l\?ﬁi*ﬂ@'j)D—F ‘.EFT@.*E'
RFEHRF  HF1~3FEOHF 2 5] LEUCTEULS, PR

©BUBT RU)L EIEERE

3EMDFEESD 1(1)
[1) 0EE o1 [EOH, 803 » "
[1] KOBINCEZ RS, e

(1) HEHE2S 4.1 £ 0 b/ S A8 I b 0 £ 970,
Q)—%i@%ﬁ%<f&3i@%méW%ﬁ%#&fgiﬁéwo

(3) =15 KO H/NEREHDOI D, bo L b REBBEEZEZ IV,

sz (1) 91 (2) =2, —1, 0, 1 (3) —2

[2] ROFEAE LA &0, [2] (1), Q2)DEE 1 Tk, EiEl »

(1) (+11) +(—4) = +11—4 =47 (2)8—12=+48—-12 = —4

(3),(4) DEE H1 Rk ik > T

(3) —1.2x(=6) =+(1.2x6) = 7.2 (4) (—l)x6: _(lX6) -’

(5),(6)DEE w1 I1RKXDEHE] P

(5) Ba+2)+(a+4) =3a+a+2+4 (6) —4(Bx+2)=(—4)x3x+ (—4)x2
=4a+6 =—-12x—8
(7) (x=p)=(-7x+2y) =x—p+Tx=2y (7 DEE H2 (BEADHE »
=x+T7x—-y-2y
=8x-3y
2 3 2 4 - e
(8) 9x y+(—zxj=9x y><[—3—x) () DEE w2 HEXOHE > T
=—12xy
(9) (3x+5y)x(-2y) (9),010) OB 3 [XOEM) > DS
=3xx(=2y)+5yx(-2y)
=—6xy —10y?
12x>  30xy

(10) (12x2—30xy) + 6x =

6x 6x =2x-5y



